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Appreciating and Questioning of Multiple Solutions

to a Classic College Entrance Examination Questions

Wang Shenghua

Chen Xiangzheng

(Chongqing Tsinghua Hight School,Chongqing 400054)

Abstract: Given the potential of some points in the uniform electric field, solving the magnitude and direction

of the field strength is a typical problem of uniform electric field widely appearing in senior high school physics

teaching. This paper analyzes and compares it from the perspective of multisolution appreciation.
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